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General Instructions :

Read the following instructions very carefully and strictly follow them :
(1) This question paper contains 34 questions. All questions are compulsory.
(1t) Marks are indicated against each question.
(iti) Answers should be brief and to the point.
(iv) Answers to the questions carrying 3 marks may be from 50 to 75 words.
(v) Answers to the questions carrying 4 marks may be in about 150 words.
(vi) Answers to the questions carrying 6 marks may be in about 200 words.

(vii) Attempt all parts of a question together.

1. Statement-1 : Motivation is a complex process as individuals are
heterogeneous in their expectations, perceptions and
reactions.

Statement — II : Motivation can be either positive or negative. 1

Choose the correct option from the following :

(A) Statement I is true and Statement II is false.
(B) Statement II is true and Statement I is false.
(C) Both Statement I and Statement II are true.
(D) Both Statement I and Statement II are false.

2. Organising provides a clear description of jobs and related duties. This
helps to avoid confusion and duplication.

The point of importance of organizing described above is : 1
(A) Adaptation to change

(B) Effective administration

(C) Development of personnel

(D) Expansion and growth
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3.  ‘High inflation rates generally result in constraints on business enterprises
as they increase the various costs of business such as the purchase of raw
materials and payment of wages and salaries to employees etc.” The

dimension of business environment referred to above is : 1
(A) Political Environment (B) Technological Environment
(C) Social Environment (D) Economic Environment

4. In an informal organisation, authority arises out of i 1

(A) Virtue of position in management
(B) Company’s rules and policies
(C) Scalar chain

(D) Personal qualities

5.  Which of the following statement is correct about personal selling : 1
(A) Itis an impersonal form of communication.

(B) Personal selling does not allow a sales person to develop personal
relationships with the prospective customers.

(C) Personal selling involves oral presentation of message in the form of
conversation with one or more prospective customers for the purpose
of making a sale.

(D) Personal selling refers to short-term incentives, which are designed
to encourage the buyers to make immediate purchase of a product or
service.

6. Sadhna, a graduate of a reputed institute of management, is a successful
manager. She applies her acquired knowledge in a personalised and
skillful manner in difficult situations at work. She uses her imagination
and creativity in handling these situations.

The aspect of the nature of management highlighted in the above case is : 1
(A) Management as an Art

(B) Management as a Science

(C) Management as a Profession

(D) Management both as a Science and as a Profession
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7. Match the concepts of marketing in Column — I with their respective

explanations in Column — II : 1
Column -1 Column - I1
(a) Product concept (1) Its main focus is on quality, performance

and feature of the product.

(b) Selling concept (1) Its main focus 1is on satisfaction of
customer needs.

(¢) Marketing concept | (i11) Its main focus 1s on aggressively
persuading buyer to purchase the
existing product.

(d) Societal concept (iv) Its main focus is on satisfaction of
customer needs and society’s well-being.

Choose the correct options from the following :
@ () (© (@@

A) @) @@y @) @

B) @) @) @ av)

€ @ @@ @) av)

D) @ @) @) av)

8. Statement-1 : Regulation of takeover bids by companies is one of the
Regulatory functions of Securities and Exchange

Board of India.
Statement — II : Training of intermediaries of securities market is one

of the Development functions of Securities and
Exchange Board of India.

Choose the correct option from the following : 1
(A) Statement I is correct and Statement II is incorrect.

(B) Statement II is correct and Statement I is incorrect.

(C) Both Statement I and Statement II are correct.

(D) Both Statement I and Statement II are incorrect.
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9. Alfa Graphics Ltd. was a reputed Indian company which had been in
business for many years. The Chief Executive Officer of the company, Rohit
Gupta always believed in understanding the business environment as well
as responding and adapting to it.

When he found that a foreign multinational company, Leno Graphics, is
entering the Indian market with new substitutes, he prepared to meet this
threat by reducing cost and creating good quality and aesthetically
appealing layouts, advertisements, logos etc. As a result, Alfa Graphics Ltd.
was not only able to retain its own customers, but also started getting new
projects.

The point of importance of Business Environment discussed above is : 1
(A) Tapping useful resources.

(B) Identifying threats and early warning signals

(C) Improving performance

(D) Identifying opportunities and getting first mover advantage.

10. The risk related to inability to meet fixed financial charges like interest

payment and other repayment obligations is known as : 1
(A) Operating risk (B) Financial risk
(C) Business risk (D) None of the above

11. Salim and Karim are good friends. They started a business of selling high
quality seeds for growing organic vegetables. They are offering 200
varieties of vegetable seeds suitable for terrace gardens, balconies and
backyards. Due to the growing trend towards healthy consumption habits,
there i1s a huge demand for their seeds. The dimension of business

environment being discussed above is : 1
(A) Economic Environment (B) Political Environment
(C) Social Environment (D) Legal Environment

12. Which of the following statement is correct with respect to ‘Exchange
Mechanism’, a feature of Marketing ? 1

(A) For an exchange it is necessary that there should be involvement of
atleast three parties.

(B) The parties do not have the freedom to reject other parties offer.

(C) The acceptance of the offer for each party has to take place on the
basis of compulsion.

(D) For an exchange it is necessary that each party should be capable of
offering something of value to the other.
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13. Which of the following is not a protective function of Securities and

Exchange Board of India : 1

(A) Prohibition of fraudulent and unfair trade practices.

(B) Controlling insider trading and imposing penalties for such
practices.

(C) Promotion of fair practices and code of conduct in securities market.

(D) Undertaking measures to develop the capital markets by adapting a
flexible approach.

14. HG Air Conditioner Pvt. Ltd. is lagging behind its scheduled production
target by a month. Despite a high demand, the company is struggling to
meet its production target. Even after taking measures like training of
employees and assigning additional workers and equipment to the project,
the targets could not be met. The Production Manager, now, decided to
revise the standards.

Identify the step of the controlling process under which the Production
Manager decided to revise the standards. 1
(A) Setting performance standards

(B) Measurement of actual performance

(C) Analysing deviations

(D) Taking corrective action

15. Bimal Rai is working in Funny Bunny Ltd. The company manufactures
games and toys for children. The basic task of Bimal Rai is to integrate
diverse elements and coordinate the activities of different departments. He
also analyses the business environment and its implications for the
survival of the firm. The level of management at which Bimal Rai is

working is : 1
(A) Top level (B) Middle level
(C) Operational level (D) Both Middle and Operational level

16. Shridhan wanted to purchase an electric car. He visited a retail showroom
of a car company where these cars were displayed. The Marketing Manager
of this showroom told Shridhan that the company offers credit facilities,
maintenance services and many other services that help in bringing repeat
sales and developing brand loyalty for their cars. The marketing function
being discussed by the Marketing Manager in the above case is 1
(A) Product Designing and Development
(B) Marketing Planning
(C) Customer Support Services
(D) Branding
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17. One of the responsibilities of an aware consumer is to buy only
standardised goods as they provide quality assurance. Identify the quality

certification mark to be seen by a consumer in the picture given below : 1

(A) ISI Mark (B) Agmark
(C) Hallmark (D) FPO/FSSAI Mark
For Visually Impaired Candidates :

Madhu wants to buy Jewellery for her daughter’s marriage. Which of the

following quality certification mark should she look for while buying

Jewellery :
(A) FPO/FSSAI Mark (B) ISI Mark
(C) Hallmark (D) Eco-mark
18. There are two Statements, Assertion (A) and Reason (R). 1

Assertion (A) : Larger the lead time, larger is the quantity of material
required to be stored and larger shall be the amount of
working capital required.

Reason (R) : Ifthe raw material do not have a record of un-interrupted
availability, higher stock levels may be required.

Choose the correct alternative from the alternatives given below :

(A) Assertion (A) is false and Reason (R) is true.

(B) Both Assertion (A) and Reason (R) are false.

(C) Assertion (A) is true and Reason (R) is false.

(D) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
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19. There are two statements, Assertion (A) and Reason (R) : 1
Assertion (A) : Coordination ensures unity of action.
Reason (R) : Coordination act as a binding force between

departments and ensures that all action is aimed at
achieving the goals of the organisation.
Choose the correct alternative from the alternatives given below :
(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A) 1s correct, but Reason (R) 1s wrong.
(D) Assertion (A) 1s wrong, but Reason (R) is correct.

20. ‘The principles of management do not provide readymade solutions to all
managerial problems as real business situations are very complex and
dynamic and are a result of many factors.” This statement highlights which
of the following features of principles of management : 1
(A) General guidelines
(B) Flexible
(C) Contingent
(D) Mainly behavioural

21. (a) State any three points of importance of Financial Planning. 3
OR
(b) State any three factors that affect the fixed capital requirements of a
company. 3

22. (a) Give the meaning of ‘Directing’ function of management. State any

two features of Directing. 3
OR
(b) State any three ‘Semantic Barriers’ to communication. 3

23. Madhwan was appointed as a Human Resource Manager in ‘Health Grow
Ltd.” six months back. As a Human Resource Manager, he has to perform
many specialised activities and duties like analyzing jobs by collecting
information about jobs and prepare job descriptions, training and
development of employees etc.

State three other specialized activities that Madhwan must perform in
addition to the above as a Human Resource Manager of Health Grow Ltd. 3
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(a) T o TIEI0T T o A o fohegl 9 (g3l ol Seoi@ hIT |
YA
(b) il o STET Bl o fehral =R AT ohT Sooid SHITY |

(a) et o FE=feTRad sTer |ial sl HHSIST ;
() werfaee™ / fovafaeme™ & wdt
(i)  HHTTIT gRT ST
e
(b) TrafaRea M-foxfa dicaredi o1 gmemsy S wH=niE w1 3= fsaeT & fog
FIfa Hd 2 :
(i) HHATRET I UgaH < Tra-eh SRk
(i) we-ufast

O S o U |gd feAfies’ H v Seeaeh 3 | 3Heh U189 IR hHTE] I Th 998 7

St 3G 3Te SR BT & — HreAT, Fdwr, & q91 WEd | e qet fas swermh

FHHIR & s Io qUT A1 6 Aihd TR § | Y IR 954 Hed § B R R E 3R

TR 379 AT <l T HL TG & | 7O S 3o 37 Foamet o fofu 378 quespd st

ITEAT & | I8 GHEIT & foh et HISAT § STawehd 131 sl Ueh 1A fem™ 8T § | 37d:

I Teh HUAT <hl STTETIhT oh T hl TEAHI Alleh 8 3ra ST hl Teh |

Teh T! U9 FAISHT <h 91 1ot R e i il Tl o6t § 71 STefeh o qe wEd

I TR TS A E |

() Sure feufe o o S gRY T ShT T8 SRETIET Shi STEEhdI3Tl bl TE=T-y
Td IThT Jeoid HITT |

(i) UH fopdl & AT Wl Ieoi@ HIfY SE W Al 1 AR - shaegdl
g smaTf@ 2 |
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24. P. Madhav is the production manager of ‘Trendy Style Pvt. Ltd.’, a firm
manufacturing office furniture. His objective is to increase production by
20% in the next one year. But the Sales Manager, R. Shetty does not
approve of the increase in production, till changes are brought about in
the quality of wood, locks, handles etc. to incorporate latest trends. This
kind of conflict brings to light an important concept of management that
can help to link the activities of various departments. 3
(1) Identify and explain the concept discussed above.

(11) State any two points of importance of the concept identified in (1)
above.

25. (a) State any four points of importance of controlling function of

management. 4
OR
(b) State any four merits of external sources of recruitment. 4
26. (a) Explain the following external sources of recruitment : 4

(1) Campus Recruitment
(11) Recommendation of Employees

OR

(b) Explain the following non-financial incentives which motivate
employees for higher performance : 4
(1) Employee recognition programmes
(1) Status

27. Ganesh Jain i1s the Marketing Manager at ‘KL Foods Ltd’. He has a team
of four employees working under him — Kavya, Ritesh, Pooja and Madhav.
Kavya and Ritesh are temporary employees while Pooja and Madhav’s job
is permanent. All four of them have been working hard and consistently
met all targets. Ganesh Jain wanted to reward them for their good
performance. He understood that in all human beings, there exists a
hierarchy of needs. So, he identified the need level of each of the
employees to provide motivation to them.

Kavya and Ritesh were made permanent in the job with a good pension
plan while Pooja and Madhav were given an autonomy status.
(1) Identify and state the need of employees recognized by Ganesh Jain
in the above case.
(11) State any two assumptions on which Maslow’s Need Hierarchy
Theory is based on. 4
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28.

29.

30.

3 ek’ Teh AT Sociiod (HhT gigrar Al) i 1 BT 3TW & a1 31w

2024 T Tha1 TRIT | TR I AT IATSId B T AT | T§ AU SHIH T R HEAT

TTEAT o7 3TN 39 AL 3R fshm o foTu 38 T 100 U 1 traweehar of |

Oh T o &I HRIBRI AT 3 foreft wereres & foam-fomst fopan R gema fean

Top e THT ISR 8 11 U 3TWT <1 LA i 314dT forem o1 forepr ot o fore few

I 4t w1 wfavfad @ frfee g seaealet @ SafEl it 3R gxaaia s |

R LT ¢ |

3 g’ o Ya-e A Fot forn T 3 st sl e 6 forw waelt aR 2 200 it 3w X

Y THSTehl <1 THAT HAM 1 FHT T |

(i) U S9N % 39 YhR 1 AT0 SaTEC, fSrdeh W1y § 4 deh’ 4 I U
Teream 5 fotw =i T SfeT <61 fAor fora |

(i) 3IYUH (1) T T8TH T STSIR hi fohrgl oI T3 ohl Scoig <hifoTu |

it o fafiree ek oSt & Sl IueRT a3t 1 HruT B | 3Hh STUT TrUl YA § et
BUE | 3 3feehie STt 3o e & wre forafir sy o feft € |

&t % fetfide oFmar oy ITfid T W 8 | AT W T o fole et 1 SeeH
ST ) TTerfiehdT <l e H TEdl B | HINEn 36 U I8 =18 @ foh afded
HH-H-HH Teh TfTaa RN T T 1T < &9 § fohaT ST, 37 HraHt Sfaas e
1 0T AT B |

31 |, SN ot 1 foref gereres 2, fashm o SATeees 31aed <l UgaH &l 7 | 384
&7 HIhRI ATehil i germa feam & fob e emvmer <t =i st 6t STer STevs
Frasm & T & forw @i <1 wfenfa fopan sme | soeh foe &g SR st 3
ST <l Teh HTHTRY SH T (319 93 ) T b1 Fory foram |

(i) ST =fia e fofa st guferd s ol ) Teshl Sl Tg=TT |

(i) B Sl 3T TR 1 Iooid hITSTT S| Teh SHF oh ATHII {07 hl THTferd shid @ |

3T o B W HEAH 9 | 38 ‘Tt gra|’ | simehrer ferarmh =t 3mrew feam | et
Teh G&U PehT § 3TE 3T 31T 7 38 §5d 3114k Icgehdl b ATY @IeTT | oifehd 918 38
TgaI o o w31y 61, 38 @ fob g aremer forarrt oft | 3| Aohst =l Sfan
I I8 T T 3k SUX UHT i Hohd A2l AT foh I8 Tt wepierd & 31 AEmen |
39 39 fotu ‘forarrt grom’ @ wvaeh fopan | “foarht gre|’ o 8RR A 38 forw amn
it 3R T wmehTar ferart arfefer frsm < wra qid 99 < |

ST et H =f=ia < SuwIeRT STRRRT ohl TE=TT Te WSSy |
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28. ‘Tech Work’ an Artificial Intelligence (AI) startup started in 2024. It was
earning good profits. It wanted to expand its business and for its research
and development, it required T 100 crores.

The Chief Executive Officer of ‘Tech Work’ consulted the Finance
Manager who suggested that there is a market which facilitates transfer
of investible funds from savers to entrepreneurs seeking to establish new
enterprises or expand existing ones through the issue of securities.

The management of ‘Tech Work’ decided to raise funds from the investors
by issuing equity shares @ % 200 per share for the first time.

(1) Name the type of capital market through which ‘Tech Work’ decided
to raise funds for its expansion.

(1) State three features of the market identified in (1) above. 4

29. VK Ltd. is a fast moving consumer goods company. It has shareholders
spread all over India. Most of its shareholders depend upon a regular
income from their investment.

VK Ltd. has been earning consistent profits. The management of the
company keeps in mind the preference of the shareholders regarding
payment of dividend. Since its shareholders, in general, desire that
atleast a certain amount is paid as dividend to them every year, the
company declares dividend every year.

Atul, the Finance Manager of the company identified promising growth
opportunities. He suggested to the Chief Executive Officer to retain the
earnings to finance the required investments instead of declaring
dividend every year. For this, the Chief Executive Officer decided to call a
General Body Meeting of the shareholders.

(1) Identify two factors affecting dividend decision discussed above.

(11) State two other factors that affect the dividend decision of a
company. 4

30. Abha had guests at home. She ordered vegetable, biryani from ‘Biryani
House’. The biryani came in a beautiful packaging and Abha opened it
with lot of excitement. However, when she started serving biryani to the
guests, she realised that it was non-vegetarian. She checked the package
and noticed that there was no indication whether it was a vegetarian or
non-vegetarian biryani. She contacted ‘Biryani House  for the same. The
manager at ‘Biryani House’ apologized and immediately sent a vegetarian
biryani along with complimentary sweet dish.

Identify and explain the two consumer rights discussed in the above case. 4
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31. (a) 9T Ta= &l FfaTRad dehiehl ol THATSY 6
() T SR
(i) Tifa 3rerEE

(i) oFH T

GO
(b) Y& I Toprgl i foraIaaT =l Tmesy | 6
32. () Y% ‘T wi S ffiad e w1 awense 6

(G) e uitEdasiier ararerer 3§ gyre T8 & |
(i) TS TS 1 HH BT § |
(iii) TS TeTaT o1 ST TR R |
37T
(b) ‘THA-ITIN AT TH TR A w1 7 e | Fe-war @ A
1 AT o TehRI o €Y H GHSATET | 6

33. Tael it feafies’ fova o e o<t SusieRT a&q3il <hl hrafat § | Teh el shi 379t
TRufa 1 a9 Tt B | 3% TSHICH Gl T TSSIe 38k IevdT i Ut H HERaT
AT B 3T 3 AT o TIauT o TTY Ueh Yfed H =TIl & | 39 ESHTcHS Qe § Shrd
% <1 Tafre 3eurg fovm & — “Rew’ aum Bm |
s bl T BT AT T bl 31T o foTT 79T €41 Shfgd et =macdt & aifep
IZ SIS T 39 Al 3 ST T@ Heh | 3191 TR AISHT o Teh 9T o &9 H g ek
i § ‘Sorereli-ad & | oSl i shl ASHT ST &I R |
Q)  Tae it Tfies’ o HeATcHS @ bl Y8 |
(i) SolFIEE & T Jaw T 9 AT B @ F T@d ¢TI o ffiRee’ %

GISTcHS Giel Sl FTE T3 |
(i) YU (i) T S 7T HSHTCHS &I o JehR o fehral i SATHI ol ool shifaTy | 6
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31. (a) Explain the following techniques of scientific management : 6
(1) Time Study
(11) Motion Study
(1) Fatigue Study

OR
(b) Explain any three features of management. 6
32. (a) Explain the following limitations of ‘Planning’ function of management : 6

(1) Planning may not work in dynamic environment.
(11) Planning reduces creativity.

(111) Planning does not guarantee success.
OR

(b) Give the meaning of ‘Single-use-plans’ and ‘Standing-plans’. Explain

‘Strategy’ and ‘Policy’ as types of plans. 6

33. ‘Royal Glaze Ltd. continues to maintain its position as one of the largest
consumer goods companies in the world. Its organisational structure is
designed to facilitate the achievement of its objectives in alignment with
its vision statement. The company maintains two distinct product

divisions in its organisational structure — ‘Foods’ and ‘Home Care’.

Looking ahead, the company is focusing on embracing changes so that it
can continue to be the market leader. As part of its expansion plans, it is

planning to venture into the electronics segment in the near future.
(1) Identify the organisational structure of ‘Royal Glaze Ltd’.

(11) Draw the organisational structure chart of ‘Royal Glaze Ltd.’

considering its future plans to enter into Electronics segment.

(111) State any three advantages of the type of organisational structure

drawn in (i1) above. 6
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34. It <l fsfierar i sgM % fow € st fafies 3, S v $-wn SR FE R, U 3
areft shiferehll R forehféra 61 8 | IE ETshors Ig arell R 31 sAfel & HFEd & FAR
gfyursiTes 7a9 % foTT 38 oo™ 1 dig e T@ St fgivard & | i 1 srcafees
e & & 3= ore arel! a8 e fr e g |
30 34 dTeft SR 1 fafyre fomivar =g ? o6 gwen fmior wwa & fopam Smom 3R @19
gl (fersteft) & Try—aney Sa-3u o1 3 +ff il 31 aftes & wumh g
YR U |

39 Joft 7 €1 St feafies ot wem wiieqor wienfa fireT 715 ® | 389kl shiwa 3 2.5 e Ffvem
&1 T3 2, HET <! 37l IuIERITST Bl e qT IUR vt 3efe o wn § fofy o & a@fs
ITeRIT SHHT b IHTE b ool o T & Hh |

34 ATell PR I ARTd IUWAIST I ITeT HIH & fore &I St fafieg 37 fashara
ST HETET o <Y YT HEAE] o FERIAT 301G TG hid ol ST § 2 S STl
e T5d Hehdl % |

R A HH o foTe sl & & fore € it fafiee 3 =g fofa forn 8 o6 a7 fefSrea
e sifiem, s fagfca 9en yamaemell sfeaal va Wl g eRHl 1 3T
4 |

IR fRufe o € sft ferfiee g S1ot sTe segfer <1 qR e o6 foTw 3w # e e
T[T o Ush TS i Tl hl TS 7 |

TG ITTSE Y Ufadal 3Yd hid §T Tehi i TETHT T WS |
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34. DG Ltd., an E-plane car company has developed a revolutionary flying car
for passenger mobility. This hybrid flying car can accommodate upto two
persons and features innovative wing like doors for comfortable entry. The
seats are designed for utmost comfort, crafted from high quality

materials.

The distinguishing feature of this flying car is that its production will be
in India and it will utilise biofuel alongside electricity, ensuring a

sustainable mode of transportation.

DG Ltd. has obtained the first testing approval for its category. Priced at
% 2.5 crores, the company has to take decisions in respect of discounts to
customers, credit terms etc., so that the customers perceive the price to be

in line with the value of the product.

To make the flying car available to the target customers, DG Ltd. is in the
process of selecting dealers or intermediaries to reach the customers,

providing support to the intermediaries etc.

To communicate the availability, features, merits etc. of the product to the
target customers and persuade them to buy the flying car. DG Ltd.
decided to go in for digital marketing campaigns, press releases and

demos conducted by influencers and journalists.

The above case describes the combination of elements used by DG Ltd. to

prepare its market offering.

Quoting lines from the above para, identify and explain the elements. 6
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